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Sl. No.1
QBID:1555071

Tdentify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1) i

(2) with

(3) for

(4) by

FraffRad ¥ o w1 dged e el © 2
1) &

(2) =

3) 7

(@) i

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

Identify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eye view of the courses offered in the Hansraj College .

(1) an objective view

(2) a detailed presentation

(3) an elaborate description

(4) a general view

fFafeiad | 9 -9 Ted BRYU! 4N BT 61§ 2
(1) FFL. HBIH

(2) =19, Rremd

(3) dRHI HREI

(4) DI, €71

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.

For the last seven months I in this company.
(1) am working

(2) has been working

(3) have been working

(4) have worked

U & o FY ¥ (4l 9% & a7 51F &1 U Hhe gIdl &' 39 B H-91 BRP Pgd § ?

(1) FAGRSD
(2 FHHRS
3) HUGH PRF
(4) JHEGHIRE




1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬁaamﬁ—q@%:U‘$ﬁ@ﬂq(AssertionA)%Wﬁﬁ@ﬂ%ﬁmmm{ReasonR)aiﬁgqﬁ:
iy A - frar faguo sfdei g § |
HRUIR : 1 T TON B & §18 e aavr HT =Y deq adr g |

TR PY & Tl H, =i [GU T [dwedi O T Tel IR &1 9714 DI -
(1) A3RREATAR IRR. AT TSI AT

(2) A3RRIA TTE. VBT R. AT To! S Tol ©

(3) ATTR. AfPTR 3T R

(4) AU AFIRITT

1[Option ID=45077]

2[Option ID=45078]

3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Awiay

(4) Archves

eI & 1Y Y111 BT (e Biforg -

a1 A 1T
=) T
A [3RTg L |4
B. [t I |&rFe
c. |faeg Il |3fgeyg
D. [T v |a=
i feu e fasedl § O gl 3R &1 944 SIfelU -

(1) A-IV. B-III. C-I. D-II
(2) A-IIL B-III. C-IV. D-I
(3) A-L. B-II. C-III. D-IV
(4) A-II B-IV. C-III. D-I
1[Option ID=45081]
2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076

Identify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?




(1) When Ajay returned my shirts ?
(2) When will Ajay returned my shirts ?
(3) When 1s Ajay return my shirts ?

(4) When did Ajay return my shirts ?

:ﬂaamﬁqqﬁl%:Qﬁ&ﬁlﬂiﬁﬁ(Asser’[ionA]%Wﬂﬁ@ﬂ%ﬁmmm{ReasonR)ﬁwlﬁ:
AU A« fHRT EigAr &1 ara § ol gad aufdd &1 yRT § Wiges fGAR aml
HRUIR : 59 HelaX &I e g2 g |

SWRIF FUYF & AP H, Hid U U [dFedl T I el 3R &1 999 Pfod —
(1) AIRRIFTTE AR AT T IR

() A SRR IF TTE, AT R, A T I TS R

(3) A S, AR 3T

4 ATTE. APTRITS

1[Option ID=45085]
2[Option ID=45086]
3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok, "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok. "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok, "Taj Mahal is the Seventh Wonder of the World".

PERfEd d PR T e e R 0
(1) PN -

(2) THRI - U5

(3) PRI - Y

(4) BDRI - HIG

1[Option ID=45089]

2[Option ID=45090]

3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain

P: that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) PQSR
(3) RSQP
(4) SQRP




-1 & 1Y YI-11 DT e BT -

T I Tt I
A |foar 9 U g3 dufd 1 |9
B. |foTHd UR &l ol 9ab 1. [9a-g
C. |SiugAarg el . |[URGi
D. |fddl & @ = o gl B g e | Iv. [UiiReafsd
i< fu e foeedl # 9 96l IR &1 9a- B -

(1) A-IV. B-III. C-II. D-I
(2) A-IIL B-TV, C-1. D-II
(3) A-IIL B-I. C-IV, D-IIT
(4) A-L B-III. C-II. D-IV
1[Option ID=45093]
2[Option ID=45094]

3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast. had a shower. and goes to school.

(2) She ate her breakfast. had a shower, and gone to school.

(3) She ate her breakfast, had a shower. and went to school.

(4) She ate her breakfast, had a shower. and was going for school.

frafafad o 9 g5y as Rifgd s -
(1) GRS AMAAWEE |

) BT ARG |

@) WFT: FAATAE |

(4) TEIHT: ARSI

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

AT d e =58 -
A PT
B. 3M<ifarg
C. I=ad
D. IH@R
E. FaidHl
i feu U fdd el O O 9el 3R &1 99 Hifelu
(1) C,D3RE
(2) B.C 3RE
(3) C.D.E3RA
(4) A.B3RC

1[Option ID=45005]




2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?

(1) Chalukya King Pulikeshi IT

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna I

g8 O frge vaRT & Re-H6feR o1 i dxam 2
(1) ATF RIS GAbLi 11

(2) TS JY&I

(3) O/ gyIe s
(4) VDT AP W[ |

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Samhitas ?

(1) Atharvaveda
(2) Yajurveda
(3) Samaveda
(4) Rigveda

YR TITd &1 3571 Haifed fod afde dearagsne 2
(1) 3fedde

() T9aq

(3) TS

(4) FHAg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

Sl. No.13
QBID:15550713

Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A. Women
B. Warriors
C. Merchants
D. Shudras

Choose the correct answer from the options given below :
(1) Aonly
(2) AandD only

(3) Aand C only
(4) Donly




Srge = e F g1k R us Faifed g avf ot s ot o snfire &% 39 R ue Teayof uvma s 2

A. Tfgararf
B. W&l
c. Rt ait
D. Y&

A feT AT faehedl & & T8 39YFd IR HI TG RIAT -

(1) Pad A
(2) HFAARD
(3) FaaARC
(4) HadD

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India is empowered to make which of the following appointments ?

A. Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandD only

(3) Aand C only

(4) A.CandD only

fFafafaa 8 8 foe i Fgfdaal & oy YRd & Uyl o gedd < g 2

A I YTE
B. TIGUHT {08

C. HRd & T3 rareie

D. O1g 31 HE

14 faw 71u famedi H ¥ Hel IR &1 98 i ;
(1) HAAA, B 3RD

(2) HATASMRD

(3) FagAARC

(4) HIAA, C 3IRD

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A It has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 229 October 2014.

Choose the correct answer from the options given below :




(1) A.Band D only
(2) Aand3B only

(3) AandD only

(4) A.B.C and D only

W YRA- 03 T F aR § FERif@d o9 A S 98l § 2

A. SHPT 0T 1.41 TR PRUS € AR 5 5 a8t § [partad far s |
B. SUGI AISd HATTY." AT AR el &1 Ud TR da@d § |
C.UYd1.U0.- g B 2 g4l Rig O3 gy uiy fhar mar o |

D. UH.E1.UH. 2 3{acaT 2014 DI URY 3T YT |

A TG 77 fSehedl # ¥ HET 30¢ &1 944 FHaAy :

(1) PAA.B3IRD
(2) HadAIMRB

(3) HTAARD

(4) HGAA, B, C ARD

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh v cv"
"keypad pen book bottle” is coded as "gn ty 1u k1"
"ecomputer pen bottle paper” is coded as "cv kl 1o gh"

Which of the following code is used for "pen"
(1) gh
(2) i
(3) ov
(4) 1o

U faRiv e ymr o
"book pen mouse computer” PIHPC B-er ghiucv".
"keypad pen book bottle” T HC o~ "en ty u kl"

"computer pen bottle paper” ®THC T-"evklio gh".

"pcxl"%%ﬂﬁmﬁ@ﬁ@ Tga-d

(1) gh
(2) i
(3) cv
(4) io
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717




In a certain code language.

'Attend class daily good' is written as 9$5. 24%09, 3§6, 243
'Begin great any matter' is written as 3 & 3. 839, 10*15, 14%4
'Less error and fire' is written as 10$7. 23%8. 9%14, 24&3

'"Tool better than screw’ is written as 16%22, 5321, 10*4, 14%22

According to the given code what will be the code for the word Burst' ?
(1) 854

(2) 6%2

(3) 832

(4) 624

U faRiv ey o

'Attend class daily good' B 085, 24%9. 386, 24+3 @I AT &
'Begin great any matter' P13 & 3. 889, 10*15, 1454 TG ST &
Less error and fire' DT 1087, 23%8. 9%14. 24&3 @I o1 8

'"Tool better than screw’ I 16%22, 5321, 10+4, 14%22 @I 91 & |

SR AU MU Fel & 3FUR U3 Burst B He FTQ 2
(1) 8%4

(2) 6%2

(3) 8%2

(4) 624

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

Sl. No.18
QBID:15550718

If the symbol '+' means '— and "' means " and vice versa then, what would be the value of following equation ?

4%2/4-2+3
1 7
2) 3
3) -8
(4) 10

afe dard '+ &1 3 § 3R+ &1 3 1 § 3R su! faudia +ff wr § o Fefafea sfteru s a= sar g 2

4:*2
1) 7
2) 3
(3) -8
(4) 10

{4-2+3

1[Option ID=45037]
2[Option ID=45038]
3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719

If V plays first, which one of the following must be true ?

A. T perform sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately after Y.
E. W perform immediately after X.




(1) C and E are correct,
(2) Dand E

(3) A and B are correct
(4) C and D are correct

afe v el uga Ugfd a1 § ol i § 3 s e gagm 2
A T334 PHR VAR |

B. X SRR FH R UG a1 g |

C. Z 9qd v H R IR ST 8 |
D.Y® a6 TR a1 g |
E X P g ag W Sars |

= feu U o el O ¥ 9l 3 &1 99 Hifelu
(1) ¢ IRETE T

(2 D3IRE

(3) ARBUEIE

(4) C3RDIEIE

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end.
Aradhana is moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 [Tl I o aTe, SRIEAT alfe- Go 3R 2 Tt =cll | 3% a1e a8 g/ gol SR 10 fatl =ell | o T SIRIeHT 3R fa=r 8 9
Gl g | SRIYAT A 1 am i &= 9 e Bt of 0

(1) 3T
() Gfar
(3) P4
(4) gigg

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways, a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?

(1) 200

(2) 250

(3) 350

(4) 450

7 Q&I Ud 5 Aigarsii § ¥ 6 Gawiy i o1 90+ [ha YoR ¥ dar off 9l 5. f59H 4 4oy Ud 2 Aigard i gf 2
(1) 200

(2) 250

(3) 350

(4) 450

1[Option ID=45053]
2[Option ID=45054]




3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radit and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
1) 1:4

(2) 1:2

(3) 4:1

4 21

U TP 3R TP Tl B o1 U STaa- T9H ¢ | T 7 & o BT UG B SHalg ° ST [ba-T i 7
(1) 1:4

(2) 1:2

(3) 41

4 2l

1[Option ID=45057]

2[Option ID=45058]

3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it, become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years

(4) 45 years

PBig YRINN THIG & Bl aR T 15 991 H G181 Ot © | e auf & g offe A1 81 ot 2

1) 1539
2 30T¢
@) 4099
(9 4599

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What is the probability of getting a sum 9 from two throws of a dice ?

(1)

—
[ ]

(2)

(3)

[T =l |

(4)
el O/ f 21 9R B 9 TR 0 Wi S &1 Wil [t § 2

1)

[ ]

(2)

(3)

(4)

S| O = da| = "'l»-a

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25




QBID:15550725

If the equation 2x*+3x+ p =0 has equal roots, then the value of p 1s
(1) 7/8

(2) 1/8

(3) &9

(4) 9/8

O THBIT 227 433+ p =0 DT I A 5. Tl p BT A =11 SN 2
(1) 7/8

(2 1/8

(3) &9

(4) 9/8

1[Option ID=45069]

2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:161504831

Which of the following characteristics is not true for plants ?
(1) Reproduction
(2) Locomotion

(3) Growth
(4) Adaptation

R e f S SR S UeH & R Sg A8 & 7
(1) T
(2) I

(3) T=
(4) 3ITTH

1[Option ID=45101]
2[Option ID=45102]
3[Option ID=45103]
4[Option ID=45104]

Sl. No.27
QBID:161504832

Five kingdom classification was given by
(1) Bentham and Hooker

(2) Aristotle

(3) Linnacus

(4) Whittaker

.................. F uiy fren e fear
(1) AW AR gt

(2) wiwEre

(3) T

(4) Tz

1[Option ID=45145]
2[Option ID=45146]
3[Option ID=45147]
4[Option ID=45148]

Sl. No.28
QBID:161504833

Principles of which institutes have to execute for scientific names of plants and animals respectively ?
(1) ICBN and ICZN
(2) CZN and IABG
(3) ICBN and ICPN
(4) WCU and WWF

frafafea d T fog Twm & fogal 5, gl SiR 919eR] & a9 1 & oy H8e: ueH U e ¢ 2
(1) [CBN 3RICZN
(2) CZN 3R IABG




(3) |CBN 3R ICPN
(4) WCU 3R WWF

1[Option ID=45189]
2[Option ID=45190]
3[Option ID=45191]
4[Option ID=45192]

Sl. No.29
QBID:161504834

When scientific name is written by hand.............

(1) Each separate word should be underlined by dotted line and it 1s printed in italic form.
(2) Each separate word should be underlined and it is printed in italic form.

(3) Each separate word should be underlined by dotted line and it is printed in latin word.
(4) Each separate word should be underlined and it is printed in latin form.

v i AW Ery & v e @ -

(1) T TR Weg fdg 1T gRT Y@ifed fmar o =ifew R afe @ o & o e = o

(2) T W WeE HI Y@ifeed (501 T ey AR foves & @ 2

(3) T T Weg, & Hgta ¥ Y@ifehd &1 91y iR A s § 3d 2 |

(4) T /T Weg HI T@ifea fova1 o1 91fey R dfes # B § |

1[Option ID=45233]
2[Option ID=45234]
3[Option ID=45235]
4[Option ID=45236]

Sl. No.30
QBID:161504835

Wood is material.
(1) Hydrophobic

(2) Hydrophilic

(3) Hygroscopic

(4) All of above

FE WA

(1) SR

(2) T

(3) SGATIEl

(4) SodiEa 9+

1[Option ID=45277]
2[Option ID=45278]
3[Option ID=45279]
4[Option ID=45280]

Sl. No.31
QBID:161504836

Water contained in the cell cavities of green wood (free water) is held up
by

(1) Hydrogen bonding

(2) Inter molecular attraction

(3) Osmotic pressure

(4) Capillary forces

i em # sftm EH ey o ssm e e g
(1) TESIiEA HEY

(2) Sfefdg s snevor

(3) Rl g|

(4) HE@ aa

1[Option ID=45321]
2[Option ID=45322]
3[Option ID=45323]
4[Option ID=45324]

Sl. No.32




QBID:161504837
Specialized cells in which nutrients are stored are called as cell.

(1) Chlorophyll
(2) Parenchyma
(3) Collenchyma
(4) Sclerenchyma
(1) wRaues

(2) T

(3) Hia=hTgHI

(4) TEEP

1[Option ID=45365]
2[Option ID=45366]
3[Option ID=45367]
4[Option ID=45368]

Sl. No.33
QBID:161504838

Extractives can impart valuable properties to the wood.
(1) Sapwood

(2) Heartwood

(3) Softwood

(4) Hardwood

foreneif BTY B! JeaaH [Tl Fea HR Ghd ¢ |

(1) 75
(2) dHyY
(3) HgPE
(4) TGPIY

1[Option ID=45393]
2[Option ID=45394]
3[Option ID=45395]
4[Option ID=45396]

Sl. No.34
QBID:161504839

Tyloses are actually the parenchyma cell membranes “ballooning” into

(1) Tracheids

(2) Vessel

(3) Vessel lumens
(4) Pit pair

ST aRda & U-pled] BiiRie1sl & Sk o g oFel . agHigiwl g |
EVRGIHEEA

(2) grfgH

(3) dIRPI gHT

) T g

1[Option ID=45397]
2[Option ID=45398]
3[Option ID=45399]
4[Option ID=45400]

Sl. No.35
QBID:1615048310

For many engineering applications, the basis for specific gravity is  generally the oven dry weight and volume at a moisture content at

(1) Green weight
(2) Dry weight
(3) EMC




@) 12%

aga § SiftEiEs! sy & g iy o9a 1 YR v oms 39 YR SR smaae 99 @1 A WE
1) shaur

(2) E& HI

(3) sEAs.

4) 12%

1[Option ID=45105]

2[Option ID=45106]

3[Option ID=45107]
4[Option ID=45108]

Sl. No.36
QBID:1615048311

is an accepted criterion of strength. although it is not a true stress because the formula by which it is computed is valid only to
the elastic limit.
(1) MOE
(2) MOF
(3) MOR
(4) EL at Stress
TF I AFES © Vel &1, 98 fF o8 9e viaew 781 &, wife v @ ¥ ss iRehin o am e s vaw dmas o €

(1) MOE

(2) MOF

(3) MOR

(4) EL W&t W
1[Option ID=45109]
2[Option ID=45110]

3[Option ID=45111]
4[Option ID=45112]

Sl. No.37
QBID:1615048312

Pit pairs among and between conductive cells (tracheids and vessel elements) are
(1) Bordered pit pair

(2) Half bordered pit pair

(3) Simple pit pair

(4) Torus

T g T SRS [@ifafE R afte) Fde d iR ra # ofRa g9 eaa g
(1) i w g

(2) o ufedfam 7 gm

(3) YR T T

(4) ER™

1[Option ID=45113]
2[Option ID=45114]
3[Option ID=45115]
4[Option ID=45116]

Sl. No.38
QBID:1615048313

The energy consumption for processing of different materials shows that requires lowest energy than all other materials from
the following.

(1) Timber
(2) Plastics
(3) Steel

(4) Aluminium

gmfwwﬂwﬁmwﬁ%ww’ % fou gufar g o FPfafea § DI S DI ga & JaY $H 3ol B Sa=aahd]
|

(1) femR

(2) wes

3) Ta

(4)




Teghian

1[Option ID=45117]
2[Option ID=45118]
3[Option ID=45119]
4[Option ID=45120]

Sl. No.39
QBID:1615048314

is consider as founder of Dendrochronology.
(1) A.E. Douglas
(2) C.P. Brown
(3) C Eassu
(4) Pearson
1 GH PP BT 0HF B ¢ 2
(1) T5 g9
(2) i bt smea
(3) .19
(4) ToarEA

1[Option ID=45121]
2[Option ID=45122]
3[Option ID=45123]
4[Option ID=45124]

Sl. No.40
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Wood of plants shows that Resin canal numerous to very numerous, arranged singly or in short tangential lines. evenly
distributed through the wood; wood coarse textured; heartwood reddish brown:

(1) Dipterocarpus turbinatus

(2) D. tuberculatus

(3) D. alatus

(4) Al

fmfafEa § § 29 § et 3 F15 Sl 7 e T SR Tea I1 S TR U 9 #18 § fFale, RE T F1, o F18 Wy f
(1) fEHNBRYY ctag-cd

(2) B e

(3) Ei. unled

(4) S g

1[Option ID=45125]
2[Option ID=45126]
3[Option ID=45127]
4[Option ID=45128]

Sl. No.41
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The traditionally forestry was used and promoted as a source of value only.
(1) Cultural

(2) Traditional

(3) Economic

(4) Spiritual

ST F1 IRUReE 9T R Sgrar FEfE # € $19 3 9l & O & o e w2

(1) e
(2) TRgf®s
(3) anfifs

(4) smeiicie

1[Option ID=45129]
2[Option ID=45130]
3[Option ID=45131]
4[Option ID=45132]

Sl. No.42
QBID:1615048317

is one of the most worshiped trees of India and also popularly known as “Bodhi Tree” which represents the three supreme
God.




(1) Ficus benghalensis

(2) Ficus religiosa

(3) Ficus benjamina

(4) Ficus retusa

_ §ed ofie qurii 9y yRa # 2 9 a1t gy F T & o vafe € & oS wdfol doar 5 gfar @
(1) FEHY SR

(2) Fowy Wi

(3) WIEHH SifH3MEl

(4) TEHY g

1[Option ID=45133]
2[Option ID=45134]
3[Option ID=45135]
4[Option ID=45136]

Sl. No.43
QBID:1615048318

In JFM the foresters had long been working with the forest dwellers through system of cultivation under which the
agriculture crop was raised along with the forest plantation for a few years.

(1) Lease

(2) Taungya

(3) Royalty

(4) Monopoly

I. F. M. ® o9 % o ¥59 § g9 il & | Tl T U % G H 2 TG © ored Sl B B & a9 U0 & 91 $S a8 & 0
I A

(1) s

(2) ==

(3) et

(4) A=
1[Option ID=45137]
2[Option ID=45138]

3[Option ID=45139]
4[Option ID=45140]

Sl. No.44
QBID:1615048319

Vincristine & Vinblastine, mitotic inhibitors found in the
(1) Vinca rosea

(2) Withania sominifera

3) Terminalia arjuna

(4) Azadirachta indica

fafpada o fiemady, gogEw {0ys ug o &

(1) Tt Tfem

(2) fEdfm SfafEa

(3) AT sl

(4) wEIEYEE Si®

1[Option ID=45141]
2[Option ID=45142]
3[Option ID=45143]
4[Option ID=45144]

Sl. No.45
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are Polyphenolic glycosides capable of converting hide and skins into leather.
(1) Resins
(2) Extractives
(3) Tannis
(4) Steroids
Ui RE TReMEeY o B IR o9 $1 998 | ghafid $3d § |

(1) I




(2) fopddf
(3) 2w
(4) =3gs
1[Option ID=45149]
2[Option ID=45150]

3[Option ID=45151]
4[Option ID=45152]

Sl. No.46
QBID:1615048321

According to Forest Survey of India Report 2021, the forest cover in India is around % of the total geographic area of
country.

(1) 19%

(2) 25.5%

(3) 28%

(4) 33.5%

YR 79 T € 2021 % HFER YRE ST 5 G0 TN % N F T TS ST BT |
(1) 19%

(2) 25.5%

(3) 28%

(4) 33.5%

1[Option ID=45153]

2[Option ID=45154]

3[Option ID=45155]
4[Option ID=45156]

Sl. No.47
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is the thermo-chemical decomposition of biomass at elevated temperature and in absence of oxygen results in production of
charcoal, bio-oil and gases.
(1) Pyrolysis
(2) Gasification
(3) Heating
(4) Liquefaction

TAEHTE 1 9 AITH SR S 31 Sued # 99 T9aHEe g & e TR, a6 3109 AR 76 51 Seey s |

(1) IAM 3U=ed
(2) R
(3) @mA
(4) e

1[Option ID=45157]
2[Option ID=45158]
3[Option ID=45159]
4[Option ID=45160]

Sl. No.48
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According to FAO are referred to as all the resources/products that may be extracted from forest ecosystem and are utilized
withm the household or are marketed or have social, cultural or religious significance.

(1) Eco-Services

(2) Ecosystem services

(3) NTFP

(4) Eco-diversity

FAQ ¥ 399, &1 Ha 39 T FEIEE/EEE! | 2 9 o ufws | Pt 5y o € SR afar § vanw ey o E o faes 5
T E a1 ot S, SRphae AR ATie geaa § |

(1) & 3y

(2) EwifereH dard

(3) wEEHd

(4) S®1 fafdear

1[Option ID=45161]
2[Option ID=45162]




3[Option ID=45163]
4[Option ID=45164]

Sl. No.49
QBID:1615048324

is the practice of combining woodland and the grazing of domesticated animals in a mutually beneficial way.
(1) Agroforestry
(2) Afforestation
(3) Pastoralist
(4) Silvipasture
TUEA SR UTaq TR & WX B IR T $ R sl S @ sl B FEAE |

(1) FieaEt

(2) MM

(3) TEANS

(4) foedoesR
1[Option ID=45165]
2[Option ID=45166]

3[Option ID=45167]
4[Option ID=45168]

Sl. No.50
QBID:1615048325

In economic valuation of various goods and service is determined by various motivations which may range from self-interest
to concern for future generations and concern for environment and other living beings.

(1) Eco service

(2) Eco-Tax

(3) Willingness to pay
(4) Eco-revenue

faftr aegaft ok J1ef &1 o1l geoa | e o oo @ faftm demet & gR1 = |ay | da o arel Sifed!, saawn od wiftel & S0 &
SE S i

(1) S&-Far

(2) $F-T

(3) YA &l gl
(4) = ao

1[Option ID=45169]
2[Option ID=45170]
3[Option ID=45171]
4[Option ID=45172]

Sl. No.51
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is a collective name of land-use system involving trees combine with arable crops and or animals on the same unit of land.
(1) Agroforestry
(2) Afforestation
(3) Silviculture
(4) Silvipasture

ity 7T vl =7 U aEE T & o # OSt =1 90iee 9 want X o et 9y F ol s mEm e g |

(1) FiEsi
(2) TR
(3) A
(4) Ryediur=R
1[Option ID=45173]
2[Option ID=45174]

3[Option ID=45175]
4[Option ID=45176]

Sl. No.52
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is one of the most ancient healthcare systems mvolving use of medicmnal plant having equal scientific relevance in the
modern world.
(1) Unani
(2) Siddha




(3) Ayurveda

(4) Homeopathy

__ U 94 Y W &E- 41 ol & o Sivdig uredl & S @) it &1 Sy od & w6 8 duiie [AyRiaa g |
(1) ZAr

(2) Ry

(3) smidar

(4) g

1[Option ID=45177]
2[Option ID=45178]
3[Option ID=45179]
4[Option ID=45180]

Sl. No.53
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emerged as a response to the destruction of the world of nature leading directly to the ecological disaster.
(1) Eco-tourism
(2) Eco-psychology
(3) Eco-philosophy
(4) Eco-respond task force

g F vef & T ¥ somsusui E W S i F s T S iR AW @

(1) s& g
(2) S®i FrgH el
(3) @1 et
(4) s wfalsar SR S

1[Option ID=45181]
2[Option ID=45182]
3[Option ID=45183]
4[Option ID=45184]

Sl. No.54
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The Forest degradation refers to irreversible decline in capacity of forest.
(1) Ecosystem service

(2) Carbon Storage

(3) Wood Products

(4) Al

T &R § AT SREHY Uae GEl ST e B8

(1) swifeeen I
(2) =@ YeRw
(3) F1E & IdE
(4) TodEa a4t
1[Option ID=45185]
2[Option ID=45186]

3[Option ID=45187]
4[Option ID=45188]

Sl. No.55
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is the second most diverse vertebrate class after fish.
(1) Reptiles
(2) Birds
(3) Amphibian
(4) Mammals

nefeE! & 91e gau gad [y sEee o ¢

(1) =gy
(2) u&ht
(3) TIHTER
(4) FHAR




1[Option ID=45193]
2[Option ID=45194]
3[Option ID=45195]
4[Option ID=45196]

Sl. No.56
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Origin of birds is traced back to the Mesozoic era and period.
(1) Jurassic Period

(2) Permian Period

(3) Silurian Period

(4) Cenozoic period

ufedl & ST B Eid $1 Aldidise g1 AR SEdeI 9% qal el off 96l § |
(1) TEF g S

(2) wftE smdd s

(3) Tfa onda s1@

(4) dGES e B

1[Option ID=45197]
2[Option ID=45198]
3[Option ID=45199]
4[Option ID=45200]

Sl. No.57
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The Layered composite wood are
(1) Plywood

(2) Block Board

(3) Particle Board

(4) Fibre Board & MDF Boards
wiika wufla =18 8 2

(1) wMEgs

(2) fUs® T

(3) i1 TEd

(4) g TEA SR TIENE TEd
1[Option ID=45201]

2[Option ID=45202]

3[Option ID=45203]
4[Option ID=45204]

Sl. No.58
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Relative increase in energy consumption in different postures.
(1) Sitting < Standing < Kneeling < Stooping

(2) Stooping < Sitting < Kneeling < Standing

(3) Sitting < Kneeling < Standing < Stooping

(4) Stooping < Kneeling < Sitting < Standing

fafirs o= &m0 # Sl B 99U gaaeE 09 ggdl § |
(1) 331 < TS TH1 < ge A1 < FHAl

(2) FFAI < 51 < G ¢HhAT < TS &I

(3) A1 < Y& THA1 < TS 51 < FAl

(4) TeA THAT < Pl < T3 < TS 7T

1[Option ID=45205]

2[Option ID=45206]

3[Option ID=45207]
4[Option ID=45208]

Sl. No.59
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The optimal surrounding temperature for human beings. in minimum clothes while workimg with machime. is
(1) 28°C
(2) 36°C




(3) 38°C
(4) 42°C
ARl F WY YAGH FIS Ue4 gY A9 & R oEeeH MU FAmEEE
(1) 280
(2) 36°
(3) 380+
4 4204

1[Option ID=45209]
2[Option ID=45210]
3[Option ID=45211]
4[Option ID=45212]

Sl. No.60
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To design and construct tools, machines and workplaces which will fit the worker requires knowledge of measurements and motions of
the body parts which are decisive in the particular job. This study is known as

(1) Anthropometry

(2) Anthropology

(3) Body-Instrumentation

(4) Ortho-engineering

FHHal & 10 Suged U, A SR ST 31 o SR i s & i ai $ offf &1 A ok af #f aeer @ifgy o e O o S R
fofts ¢ ISl ded s

(1) wgEEd

(2) TR

(3) ==t 3-_{;13%121?

(4) SUT-g=iaRT

1[Option ID=45213]
2[Option ID=45214]
3[Option ID=45215]
4[Option ID=45216]

Sl. No.61
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process involves the conversion of the carbohydrates of the wood into simple sugars by chemical treatment.

(1) Saccaharification
(2) Distillation
(3) Hydrolysis
(4) Oxidation

UHH H @1 & Egsecd &1 UNacd SR Wb § vaate st gr o g
(1) =
(2) 3mEEd
(3) WA-HIHCA
(4) SY9HdA

1[Option ID=45217]
2[Option ID=45218]
3[Option ID=45219]
4[Option ID=45220]

Sl. No.62
QBID:1615048337

is a mixture of wood-alcohol, acetone and methyl acetate obtained in the refining of crude wood-alcohol. It is an excellent
solvent and is used for denaturing ethyl alcohol.

(1) Methyl acetone
(2) Acctone
(3) Producer gas
(4) Methanol
HIY Tasei, TREH SR frurge ufiee & o £ 9 omifia o158 tasieia & 2y= § 9 6id1 & | 95 U6 3o 3ans § iR S9&T SUan
SUTET S ETa & faptae 3 R fa o &
(1) furga o




(2) wdicH

(3) R T
(4) ford=Ta

1[Option ID=45221]
2[Option ID=45222]
3[Option ID=45223]
4[Option ID=45224]

Sl. No.63
QBID:1615048338

is manufactured by the destructive distillation of wood.

(1) Charcoal & Wood tar
(2) Acetic acid
(3) Methyl alcohol
(4) All of above

1 o &18 % How sree § e aar g
(1) IR&EW AR F1 &R
(2) uiHlew e
(3) foumss weTErd
(4) SorE 9

1[Option ID=45225]
2[Option ID=45226]
3[Option ID=45227]
4[Option ID=45228]

Sl. No.64
QBID:1615048339

is considered as father of Forest Products Chemistry in India.

(1) Puran Singh
(2) Dr.D. N. Tiwari
(3) Pearson
(4) Dr. C. N. Pandey

F UG § 90 Id1E EEH {99 &1 5% Sel 9 g |
(1) 9= g
(2) = g fEd
(3) fomE
(4) E1. HigA. aws
1[Option ID=45229]
2[Option ID=45230]

3[Option ID=45231]
4[Option ID=45232]

Sl. No.65
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Which of the following is currently working as Director General of Indian Council of Agricultural Research. India ?
(1) Dr. S. Ayyappan

(2) Dr. Mangala Rai

(3) Dr. Hunanshu Pathak

(4) Dr. Trilochan Mahapatra

Foffad § @ &9 URa § oA SToNEe OR & WG S sgEyE i &

(1) S1. TE. 3@TH

(2) =1 qen o™

(3) 3. feHiy Tow

(4) =1 FAd=A HEE

1[Option ID=45237]
2[Option ID=45238]
3[Option ID=45239]
4[Option ID=45240]

Sl. No.66
QBID:1615048341




Which of the following is multipurpose tree species ?
(1) Leucania lencocephala

(2) Errmhpms freticornis

(3) Dalbergia latifolia

(4) Tectona grandis

fafafEd & 9 &9 9 95 3 sgessimafa g 7

(1) I ww i

(2) THEE ZEPRE

(3) Eeaferar Afewifea

(4) TFm s

1[Option ID=45241]
2[Option ID=45242]
3[Option ID=45243]
4[Option ID=45244]

Sl. No.67
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Sal hearwood borer caused by insect.
(1) Haplocermbyx spiniconis

(2) Eucelola tectonae

(3) Odorotermes spp.

(4) Schistacera gregaria

| TS do Pl GRI a1 1ell § |
(1) EwEAiEEs wEAE

(2) Ry eae

(3) SHSTERRHN spp

(4) firfaw BRtten

1[Option ID=45245]
2[Option ID=45246]
3[Option ID=45247]
4[Option ID=45248]

Sl. No.68
QBID:1615048343

The marginal scorching of Tulip leaves is an indicators of high level of
1 Ny

(2) O3

3) Cl

(4) Halon

=fer % U 1 GG ges v F offde Siga I G ¢ |
(1) N2

(2) O3

3) Cl

(4) Halon

1[Option ID=45249]

2[Option ID=45250]

3[Option ID=45251]
4[Option ID=45252]

concentration in air.

Sl. No.69
QBID:1615048344

Which of the following is the critically Endagered Bird Species ?
(1) Great Indian hornbill

(2) Spoon Billed Sandpiper

(3) Green Peafowl

(4) Shrew

Fraftfed # @ =1 & vt 5ol sreufis dwemm g |

(1) e sfeT= gHfa

(2)




w0 fas SeuEw
(3) I dwea
(4) W
1[Option ID=45253]
2[Option ID=45254]

3[Option ID=45255]
4[Option ID=45256]

Sl. No.70
QBID:1615048345

Forest Certification Program seek to promote
(1) Sustainable Forest Management

(2) Joint Forest Management

(3) Wildlife Management

(4) All of these

T UHIUH STEwA UIeTe &A1 918dl & 2

(1) FuRvig 5= yeEA

(2) 9O 79 9=YH

(3) Tig wEA

(4) I g4

1[Option ID=45257]
2[Option ID=45258]
3[Option ID=45259]
4[Option ID=45260]

Sl. No.71
QBID:1615048346

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Organic Soils are extensively composed of plant remains peat and muck.
Reason R : Red colour of Red soil are due to presence of iron oxide.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

Fr4 € FyF fay MU UF SfHFUA (Assertion A) F w9 H RifET & @ TH1 396 WU (Reason R) F T F:
Y A - Oifte a1 e ugd smuil, die iR s san &1 a4 el § |
R R : 6 &1 &1 T T HE SHEss @ Suuly & SRU S g |

TIRIE BYF & S 8, A U 0 Aee § 9 999 9ugad IR &1 994 S |
(1) ARRIE T E AR, A 7t vt amem @

(2) A SRR EHE 8 € afsT R, A &1 w8l aem 78 2

(3) ATHE A= R W& T &

(4) Awd =@ ¥ o Rad 3

1[Option ID=45261]

2[Option ID=45262]

3[Option ID=45263]
4[Option ID=45264]

Sl. No.72
QBID:1615048347




Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : To define organism concentration is made on specific characters of organisms.

Reason R : Reproduction, growth, development, awareness of environment, adaptation and death are abnormal characters of living
organisms.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both A and R are correct and R is the correct explanation of A.

(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

#19 €1 s faw g & us wfieuA (Assertion A) % w0 H fuf@d # & g9 3% $RU (Reason R) F 79 &
iy A oty i fafte fadan oiat @t sisa #1 afvfie S €
FWU R : 794, If&, TG, TTER & Ui AreEd, g5 AR g Wiad ordl @t Sy fEsean § |

TRIE FUH & AWE 1, 9 G0 T e § 9 95 9t 1 994 S |
(1) A SRR IE ST R R, A & 98 e &

(2) A =R R EHf @ § df%= R, A ¥ 98l oarem 8l o

(3) ATAZARFAR sm T

(4) A dfFETRITe

1[Option ID=45265]
2[Option ID=45266]
3[Option ID=45267]
4[Option ID=45268]

Sl. No.73
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Growth of Wood based industry in India is slow as compare to other developed countries of the world.

Reason R : Availability of raw materials, technological lagging and institutional leg pulling are major reason for poor growth of wood
based industry in India.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct,
(4) A is not correct but R is Correct.

2 € wy faw U vF SfiEua (Assertion A) & w9 H i@ 2 & g9 39% RO (Reason R) F ¥4 #:

HUHYT A ; HRT H S8 W Senid P &1 Bew i & org Beiia omf 3 afenea fH 8

BRU R : F= AIG & JUCR], Teie! [UBs AR Freufie 2 €ie (log polling) HRa H S8 1R 1iid ST & &4 fdemg & 480 SRUE |

S HYF & AE §, A9 50 T [Geei § ¥ ¥e1 9 &1 994 S |
(1) A JRR I T IR R, A ¥ w6 ammem @

(2) A 9RR EFf @ & @fE= R, A 91 wdl corem 781 &

(3) AT EdRFTR w2

(4) AT aFIR 9TR

1[Option ID=45269]
2[Option ID=45270]
3[Option ID=45271]
4[Option ID=45272]

Sl. No.74
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Herbarium provides facilities for taxonomical research to students.
Reagon R : Herbarium provides key for the preparation of modern system of classification.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

Fr €1 FyF ey MU UF SfiFUA (Assertion A) & ¥4 H RifEd & @ €90 39% R0 (Reason R) F ¥4 &
iy A - Seftee fFenfifdl & aftfe g & gian em s § |
HRU R : Feitoese 1y arffeor gured GoR S & e ol vere #xar ¢ |

IWiad SUA & A §, A9 23U U Aeet # 9 98 o &1 904 *ifon |
(1) ARRIFAT@E AR R, A F T8 a2

(2) A SRR 3 9§ dfe= R, A 1 5 oarem =81 2

(3) ATAZARPIR sT B

(4) ATz aFIR TTR

1[Option ID=45273]
2[Option ID=45274]
3[Option ID=45275]
4[Option ID=45276]

Sl. No.75
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Vitamins D and E are synthesized from the derivatives of polysaccharide.
Reagon R : Vitamins A, D, E. K are soluble in lipid.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

Fr €1 FyF ey MU § UF SfiFUA (Assertion A) & ¥4 H RifEd & @ €90 396 R0 (Reason R) & ¥4 &
sfie A - RerftE & ok § sgudu & ogaus § Safa g 2 |
FRU R : FEfR v &1 iR & ow # geeia § |

IWiad BUH & oS §, A9 3 U et # 9 98 o &1 9uA *iom |
(1) A SRR &H 9@ ¢ ik R, A 91 ¢! aorem &

(2) A SRR 3 9§ dfe= R, A 31 5 oarem =81 2

(3) ATAZARPTR sT B

(4) ATz aFIR TTR

1[Option ID=45281]
2[Option ID=45282]
3[Option ID=45283]
4[Option ID=45284]

Sl. No.76
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : As compared to the callus culture growth is fast in suspension culture.

Reagon R : The culture constantly rotates over rotary shaker at 100 to 250 rpm speed in the culture media. So cells easily get acration
and the contents of the medmum are thoroughly mixed.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

#19 €1 s faw g & us fieuA (Assertion A) % w0 H fuf@d # & g9 3% $RU (Reason R) F 79
P A ; TeET Sey H 9fE O d6y F omer S e E

FRUT R : FEY TR Ui 7R TR 100 § 250 HROTH F 9w R g9 7em § guie S © | 56 st #1 o § oy fienht § ofw mem #
T BT T T § ol ¢ |

I HYH & aaiE H, A9 G Ty [deedi # 8 99 9ugsd IR @1 9g S |

(1) ASRREA9EEARR, A F1 951 surem

(2) A SRR EH T8 E afF R, A ¥ w1 e 48 8

(3) AvEIE AT R W T2

(4) Awdr =et & o Radn &

1[Option ID=45285]

2[Option ID=45286]

3[Option ID=45287]
4[Option ID=45288]

Sl. No.77
QBID:1615048352

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Continue mbreeding is not desirable.

Reason R : Due to continued inbreeding possibility is increased to collect harmful recessive genes. Therefore, fertility of offsprings
gradually mcreases.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

4 € FyF fau MU § UF SfiHYA (Assertion A) & ¥4 H Rif@ & @ g9 9% RO (Reason R) F 30 F:
HfiEFyE A - Tad T oA aisHE TR B |
TR R : Tad AT W & SR Sie-e HWHE S & 998 31 94ET 9¢ oidl § | ST gafd S1 W amar 9i-9 5 ot £

I HUH & Sfeiie H, A9 iU 7y fgEedi # § 99 9uged I’ &1 984 S |
(1) ARRIE TTE AR R A 1 95 O &

(2) A SRR gF 9@ & a6 R, A &1 98 oorem 38 &

(3) ATAZAPTR @I

(4 AEzaFIRITR

1[Option ID=45289]
2[Option ID=45290]
3[Option ID=45291]
4[Option ID=45292]

Sl. No.78
QBID:1615048353




Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The excessive and chronic use of drugs and alcohol damages nervous system and leads to severe liver diseases like
cirrhosis.

Reason R : If the alcohol is taken during pregnancy, it affects the foetus severely.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.

(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

4 € FyF fau MU § UF SfiHUA (Assertion A) & ¥4 H Rif@ & @ g9 9% RO (Reason R) F 30 F:

HFYT A - 9 SR tawleia &1 e iR R wom afie o &1 97 S ¢ SR 96s g%d U 99 RN & 9T Fear g |
HNU R ; 9f¢ Towige &1 98 e & 90 g 9 d) 4o ves w0 | yHiida giar g o

TUlad HYA & 2T d, 19 4 U fgwedt § 9 999 9ugad 9T &1 994 S |
(1) A 3R R 3 w8l & siR R, A ¥ w6t oorem @

(2) A SRR 2Hi 91 & %= R, A &1 w8 aoren 78 2

(3) ATfiZAfeAR a2

(4) Awar =8 & 3 REd &

1[Option ID=45293]

2[Option ID=45294]

3[Option ID=45295]
4[Option ID=45296]

Sl. No.79
QBID:1615048354

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Marjjuana is obtained from Cannabis sativa.
Reason R : Bhang and Charas is obtamed from Xr-vthroxylum coca.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

Fr €1 FyF ey MU § UF SfiFUA (Assertion A) & ¥4 H RifEd & @ €90 396 R0 (Reason R) & ¥4 &
iy A ¢ M T H1aE Yersard I WIS B # |
B R ; 4 U4 e piffmm s d ma g ¢ |

SUARR SO T TR 3 A BT e Teed § ¥ TEd S Sad 3 Oae S |
(1) ARRIF T IR, A 7t vt wmem @

(2) A SRR 3 98 € dfea R, A 1 =8t oorem 781 &

(3) ATgiz A R WE A8 &

(4) AVE TEI2AFIR WE 2

1[Option ID=45297]
2[Option ID=45298]
3[Option ID=45299]
4[Option ID=45300]

Sl. No.80
QBID:1615048355




Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : In annual plant, initiation of secondary growth starts by formation of cambium ring with the help of interfascicular
cambium and intrafascicular cambium.

Reason R : It is necessary to form cambium ring before secondary growth starts.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct and R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is Correct.

#19 €1 wue faw g & us wfieuA (Assertion A) % w0 # fuf@d # & g9 3% $RU (Reason R) F 79
HUyHYT A - Tead aiosf F wWad 9fE B o HREig SaEeH o Aaiaea SRmE B geg 8 a9 ST 9% G Bl @ |
FRU R : HETH T B 9791 Wad! gia & INY & § 950 e § |

IWiE wYH & aeiE H, A9 G g [dEedl # 9 99 Sugsd IR @ 9gd ST |
(1) A JRR g wél & 3R R, A &1 =t omrem @

(2) ARRIE T E AP R, A 71 9 e 6 2

(3) ATSiEAfEAR a2

(4) ANEI eI R EE &

1[Option ID=45301]
2[Option ID=45302]
3[Option ID=45303]
4[Option ID=45304]

Sl. No.81
QBID:1615048356

Given below are two statements :
Statement I : *Golden rice’ developed through transgenic approach is enriched with vitamins A.
Statement II : Golden Rice developed at National Rice Research Institute. Cuttack by Dr. Gurudeo Kush.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are ncorrect.

(3) Statement I is correct and Statement II is incorrect.

(4) Statement I is incorrect and Statement II is correct.

R

®YF | : WU (Golden Rice) fora® e giawiie vad! g fem ¢ fefm v d W
HUA 1 : |0 (Golden Rice). TFM ¥TF 8y T &g& § 1. Toled $71 g1 G&id f&ar |

TRT B & HaE 5, J9 &0 0 G § 9 999 9u0e 9ol B 994 S
(1) By SR EH o8 &

(2) 1 3R 11 S 7o &

(3) Ty 981 & e su= 11 o B

(4) S TOa T eI S I 8T 8

1[Option ID=45305]
2[Option ID=45306]
3[Option ID=45307]
4[Option ID=45308]

Sl. No.82
QBID:1615048357




Given below are two statements :

Statement I : A plant of west Africa. produces a protein called brazzein. This protein is approximately two thousand times as sweet as
sugar.

Statement II : By consuming this protein diabetes increases.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct and Statement IT is incorrect.
(4) Statement I is incorrect and Statement IT is correct.

Ha < By fgg g &
BT ] ; S0 HIBIHT BT UF 9T T T8 S TS WEH Sud a1 8 | 98 W W6 8 ST 2000 To7 sifes @6t §
FH]]: OV B N S A HaE B B

TWRIEd $YA & TS 1, A9 f4U 7Y fgsedi & T T Sugsd IT) B T4 BioE:
(1) =] SR I1 &1 e &

(2) =1 &R 11 =Hf 7o 2

(3) v [ 98 & Qe By I o &

(4) FYF] TG &, A AR I E B

1[Option ID=45309]
2[Option ID=45310]
3[Option ID=45311]
4[Option ID=45312]

Sl. No.83
QBID:1615048358

Given below are two statements :

Statement I : GM plants have been used to create alternative resources to industries m the form of starches, fuels and pharmaceuticals
(molecular farming)

Statement II :Biopatents are going to give not only increased economic benefits to holders, but will also provide a spurt in research.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct and Statement II is incorrect.
(4) Statement I is incorrect and Statement 1T is correct.

fRasERims
FUF 1 : GM Nt 1 I et & i dsfous anm o T, s 3R iy @mfds &) 590  fu femmar g
HUA 1 : SENE<E T B Ha0 4! i fis anfife ay & «fig sggy= # 1 3o veH S47 |

TR B & HEE F, 19 30 0 B § 9 999 900ed 9oN B 997 B
(1) wu= [ SR 11 Hf 98 &

(2) & 1 4R 11 Sf 7o &

(3) T 961 & A s 11 o B

(4) TG e e e I O 8

1[Option ID=45313]
2[Option ID=45314]
3[Option ID=45315]
4[Option ID=45316]

Sl. No.84
QBID:1615048359




Given below are two statements :
Statement I :Biopiracy means exploitation of bioresources without authentic permission from country.

Statement II : Recombinant DNA technology enables man to combine DNA sequences from different sources to create functional DNA
molecules with novel properties.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct and Statement II is incorrect.
(4) Statement I is incorrect and Statement IT is correct.

H < By lgg g &
FYF | : Taa | HfuyE & S e S 2 f 39 on § it onm & gy |
HUF ] [ ; AR ST ae-ied A & e Ot § o Seee S $F sufea B ANy Ut 9 S SRaes o a9 B ST UeH $1 6 |

IRIGd YA & s §, A 38 T2 ffecd] § 9 981 SO &1 904 Siog:
(1) s AR 11 EFf o &

(2) FF [ AR 11 <1 3T 2

3) TA[TTE T Eu I s B

(4) A AT L AT s I 90§

1[Option ID=45317]
2[Option ID=45318]
3[Option ID=45319]
4[Option ID=45320]

Sl. No.85
QBID:1615048360

Given below are two statements :
Statement I :Nilgiri wood pigeon and Malbar parakeet are endemic species.
Statement II : Species which is distributed only in a small restricted area is called endemic species.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement I are incorrect.
(3) Statement I is correct and Statement IT is incorrect.
(4) Statement I is incorrect and Statement 1T is correct.

TR sy feumE:
Hu | ; it T8 Sa oK gER Riwie ¥ it 2 1
w11 : vonfed! of Faa o oI gy & 7 fafa g & fadedsh oo st £ 1

TRIE FYA & AEE 8, A9 B T ffeal § 9 98 o %1 994 i
1) FFI AR e T@ 8

(2) YT AR 4 3w &

(3) FY1 9@ &, Tl Sy I1 39 &

(4) A AT e FU [ 90 &

1[Option ID=45325]
2[Option ID=45326]
3[Option ID=45327]
4[Option ID=45328]

Sl. No.86
QBID:1615048361




Given below are two statements :
Statement I : The percentage of cach and every species within a community is called p-diversity.
Statement I : It is the relative richness of different species in a habitat.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement I are incorrect.
(3) Statement I is correct and Statement IT is incorrect.
(4) Statement I is incorrect and Statement IT is correct.

H2 < Bue ey Mo &
w1 ; T o9 ¥ wus oifa # vimea Ay sead 2
w1 1 : 7% el wisfas o # guflus fim wifaat &1 oty wgig &

TRIE FUA & AEE 8, A9 @ T fTeal § 9 98 o %1 904 s
1) TF] AR e Ta 8

(2) & [ 4R 11 <41 a2

(3) Y1 9@ &, Ui Sy [1 39 &

(4) T AT AT s [ 90 &

1[Option ID=45329]
2[Option ID=45330]
3[Option ID=45331]
4[Option ID=45332]

Sl. No.87
QBID:1615048362

Given below are two statements :
Statement I : The Poison distribution is also used to represent the probability distribution of a discrete random variables.
Statement II : The measure of dispersion which is affected least by fluctuation of sampling is Standard deviation.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct and Statement II is incorrect.
(4) Statement I is incorrect and Statement 1T is correct.

fRasERrims:
TY | ; UEE Gaew =1 suah e Feim uiad! £ wiitea o =1 29 & fm G Em e 2 1
HUA 11 : Uieagu &1 979 o widest & SfRRa 9 gaan wyifdd §a1 § 9Fs 9o seaa ¢ |

TRE HYH & AE 8, A9 68 70 fdedl § 9 981 S 1 994 S
(1) +F] RIS ga &

(2) w= 1 &R 11 §Hf s &

(3) T TOE AT su I] @ &

(4) Y1 39 &, Al Hy= 11 90 2

1[Option ID=45333]
2[Option ID=45334]
3[Option ID=45335]
4[Option ID=45336]

Sl. No.88
QBID:1615048363




Given below are two statements :

Statement I : In Cryopreservation, the reproductive units of plants and reproductive cells of animals can be deep frozen at a very low
temperature and thus conserved for future use.

Statement II : The World Conservation Union (WCU) and the World Wildlife Fund (WWTF) are active in biodiversity conservation all
over the world.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct and Statement II is incorrect.
(4) Statement I is incorrect and Statement II is correct.

TR st

FYA 1 ; Fgam ofeem & otdf 31 994 serat SR THd S e Sifdest 21 ¢ g amee ) e st 3% vt ¥ guer e & o
e fpar wan & |

FYA 1 1 : By SR gfga (WCU) iR By 9=oie T8 (WWF) o fafdya & SRew s R Ry F 9 g

TR FYF & A 4, 71 G0 T Fewdl § 9 98 9 1 994 S
(1) S IR S 9a &

(2) Sy SR I eFf 2 &

(3) T 1 9@ & A ST 11 3d &

(4) T 90 &, e Fu= 11 T &

1[Option ID=45337]
2[Option ID=45338]
3[Option ID=45339]
4[Option ID=45340]

Sl. No.89
QBID:1615048364

Given below are two statements :

Statement I: t-test is used for testing significance of correlation co-efficient of data.
Statement IT: Chi square test used to test the agreement between observed frequencies and expressed frequencies.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct and Statement IT is incorrect.
(4) Statement I is incorrect and Statement IT is correct.

H2 < Bue ey o &
B ] ; t-THMT BT TIAR HHE B TewaH q0E B HeaquidT B WK e 5 O fFa W e |
FYF 1 : S5 TroR G0 =1 UG 26 SRERTl SR Tieed SRERg] & 79 TAHE B WA S & o e e |

TRIE FYA & AEE 8, A9 G0 T el § 9 98 o %1 994 S
(1) AR A Tm?

(2) Y] AR 4 3w &

(3) T 19T &, Tl Sy 1 39 2

(4) A AT e H [ 9T &

1[Option ID=45341]
2[Option ID=45342]
3[Option ID=45343]
4[Option ID=45344]

Sl. No.90
QBID:1615048365




Given below are two statements :

Statement I : In Latin Square design Each row and each column is a complete block or Replication.

Statement II : The Latin Square Design (LSD) is suitable experimental design where fertility variation in the field is in two direction at

right angles.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct and Statement 1T is incorrect.
(4) Statement I is incorrect and Statement 1T is correct.

RS E R
oA | ; O TaeR aT # T0® HaR R TE WH 0% 990 €S & 91 wfagdad 8

FY 1 1 : A @rax el (LSD) TF SUged TEiRe Wed ¢ ool Saval & &7 # fafima 2 femned & swenie &

TRE HYH & AE 8, A9 68 70 fdedl § 9 981 S 1 994 S
(1) +F] RIS ga &

(2) &1 4R 11 &1 3 2

(3) FFI1TT e G Sy 1 39T &

(4) A AT A s [ 9T 8

1[Option ID=45345]
2[Option ID=45346]
3[Option ID=45347]
4[Option ID=45348]

Sl. No.91
QBID:1615048366

Match List I with List IT

LISTI LISTII

Pirate the traditional knowledge and publish the
same as a new finding

A |Gene therapy L

Bio patent I1. | To extract gene and cloning
g |Tmesgeme 11 |Brazzein
animals
Bl v It was used to test the safety of the polio

vaccine

Choose the correct answer from the options given below :
(1) A-II, B-IV, C-III. D-1
(2) A-III. B-I. C-IV. D-II
(3) A-IV, B-II. C-1, D-I1I
(4) A-L B-II, C-II, D-IV

il 1 o 1Y Gl 11 1 B pifog
= I =T

URUN® I &1 91 3R 391 15 @il
A STIR 1 |
B.[0c=C 11 [SfiH &1 [-5hNT] SR Sddideul
SSEIEES
o IIEREIC]
|55 UG Uiferal & Sids 1 GR&( o TR0
o R V-3 ferg fepar e

T feu U fds el § O 98l 3R &1 994 S
(1) A-IIL B-IV, C-III, D-I
(2) A-IIL B-L, C-IV, D-II
(3) A-IV, B-II, C-1, D-ITI




(4) A-L B-III C-II. D-IV

1[Option ID=45349]
2[Option ID=45350]
3[Option ID=45351]
4[Option ID=45352]

Sl. No.92
QBID:1615048367

Match List T with List IT

LISTI LISTII
A |Bengal Famine I |Late blight of Potato
B Bk L Helminthosporium
orvzae
C. |Deccan Famine III. |Coronavirus
D. |COVID-19 IV. |Bollworm of Cotton

Choose the correct answer from the options given below :
(1) A-II B-I, C-IV, D-III
(2) A-IIIL, B-IV, C-I, D-II
(3) A-IV, B-II, C-III D-I
(4) A-L B-IIIL, C-II, D-IV

e 1 1Y Gt 11 BT e Sy

el Ul

A [&TTTE et [ [T @ e &iee

B. [eER@ @ |u [BRGRIINGE SREw
C_[SFH 3T I [T faam

D. [®1d3-19 [V. [#UY & dicas

T feu U f[dsedl § O 98l 3R &1 994 SIfu:
(1) A-IL B-I, C-IV, D-III
(2) A-IIL B-IV, C-1, D-II
(3) A-IV, B-II, C-III, D-I
(4) A-L B-IIL C-II, D-IV

1[Option ID=45353]
2[Option ID=45354]
3[Option ID=45355]
4[Option ID=45356]

Sl. No.93
QBID:1615048368

Match List I with List IT

LISTI LISTII
A |Rhizobium I [NHS — nitrite ion
B.  |Nitrobactor II.  [Nitrate — N2 gas
C. [Nitrosomonas 1 o e
nodules
D.  |Pseudomonas IV, |Nitrate ton — Nitrate

Choose the correct answer from the options given below :
(1) A-II B-I, C-IV, D-III
(2) AL B-IV, C-II. D-I
(3) A-IV, B-II, C-I, D-III
(4) A-L B-II C-II. D-IV




1 1S 1Y Gl 11 BT o= Hifeg

T | T 1
A, RIg9lfegH [ [§1 09 U4 - dgcge AT
B. [FEeeae 1. [Agee -2 T
C. gAY I [Sr8f | et &1 g1
D [gSHA IV [gerse AT - Asce

el f3u U fawedl O & 9l 3R &1 994 Sifei:
(1) A-IL. B-I, C-IV, D-III
(2) A-IIL, B-IV, C-II, D-I
(3) A-IV, B-II. C-I, D-III
(4) A-L, B-III. C-II, D-IV

1[Option ID=45357]
2[Option ID=45358]
3[Option ID=45359]
4[Option ID=45360]

Sl. No.94
QBID:1615048369

Match List I with List IT

LISTI LISTIT
A | Taxoel I |Canarium strictum
B. |Rasin II. |Terminalia chebula
C. |Myrobalan 1. | Pinus roxburghi
D |Oleoresin V. |Taxus bacecata

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-II. D-I
(2) A-II B-IV, C-II. D-I
(3) A-L B-II C-III. D-IV
(4) A-II B-I, C-II, D-IV

1 1S 1Y Gl 11 BT o= Hifeg

=T =
N ESE [ [pREH eaes
B [iR@ 1 [exfEATers dogar
C. [dddl ML [U13-TY Jegail
D [deht T v [Cqag admel

A< fau U famedl © 8 Tl SR &1 994 DIiow:
(1) A-IV, B-III. C-II, D-I

(2) A-IIL, B-IV, C-II, D-I

(3) A-IL. B-II. C-III. D-IV

(4) A-IL. B-1, C-III. D-IV

1[Option ID=45361]

2[Option ID=45362]

3[Option ID=45363]
4[Option ID=45364]

Sl. No.95
QBID:1615048370




Match List I and List IT

LISTI LISTII
A |Lignum vitae 1 |Costliest timber
B, |Ochroma pyrimidale IL. ﬁzghesr aRRey
- timber
C. |Acacia nilotica 1. |Lowest density timber
D. PI"”F‘?W’ L IV, |Hardest timber
santilineaus

Choose the correct answer from the options given below :
(1) A-II, B-III, C-IV, D-I
(2) A-IIL B-IV, C-II. D-I
(3) A-IV, B-II, C-I, D-II
(4) A-L B-II, C-IIT, D-IV

Y 19 91y G 11 1 e Sifsy

hiSul Sl
A [feRm arget [ [ UPT
B. 3T foiired 1. [3<d9 9 UHTE
C_ |3 1A et [11. [FIdH 9-icd UDTg
D [ReRUG G<ch-as [V [@3Rdd UmTg
= fau ¢ famedl © € el SR &1 99 DT

(1) A-II, B-III, C-IV, D-1
(2) A-IIIL B-IV, C-1I. D-I
(3) A-IV, B-III. C-I, D-IT
(4) A-L, B-II, C-III, D-IV
1[Option ID=45369]
2[Option ID=45370]

3[Option ID=45371]
4[Option ID=45372]

Sl. No.96
QBID:1615048371

Match List I with List IT

LISTI LISTII
A |Boocemtof | p Ve Mises
Expermental Design
Mathematical .
B Prabaibility II. |R.A.Fisher
Poisson Distribution III. |Captain John Grant
D. Farh_er_of Vital IV |3 D. Dearson
Statistics

Choose the correct answer from the options given below :
(1) A-II B-I, C-IV, D-III
(2) A-IIL B-IV, C-II. D-I
(3) A-IV, B-II, C-I, D-II
(4) A-L B-II, C-IIT, D-IV

Y 19 91y G 11 1 e Sifsy

'ﬂfff I ﬂ?.ﬁ' 1
A [UHEITE Uy &1 9@l e
B. [T UTiad@ar 1. | % T fper
C. [q1254 faa=ur 111 [bP S U1
D [3ar] TiRAD T & TS V. [o9 g1 fUereA
el fau U famedl © & I8! 3R &1 994 Difeig:

(1) A-IL B-I, C-IV, D-III




(2) A-IIL B-TV, C-II. D-I
(3) A-IV. B-III. C-I, D-IT
(4) A-L B-II. C-IIIL. D-IV
1[Option ID=45373]
2[Option ID=45374]

3[Option ID=45375]
4[Option ID=45376]

Sl. No.97
QBID:1615048372

Match List I with List IT

LISTI LISTII
A |Ozone laver depletion I |CO,
B. |Green house gases II. |Halon
C. |Smog III. |Pesticidal residues
B [Hibeapmificiton jip |Fpnstikans

vehicular emission

Choose the correct answer from the options given below :
(1) A-I B-I, C-IV, D-III
(2) A-IIL B-II, C-I, D-IV
(3) A-IV, B-II, C-ITI, D-I
(4) A-I B-I, C-III. D-IV

T 1% T G 1 BT e Sifen

=T | =T Il
A {3111 TRd & (- L. {COs
B.[JH 239 714 1. [gcH
C.[IH DIE 11 [T 3aeiy
DIEEEICER IV [T AR g R
i f4u e fadeui | ¥ el SR &1 98- I

(1) A-IL B-I, C-IV, D-III
(2) A-IIIL B-II, C-1. D-IV
(3) A-IV. B-II, C-II1. D-I
(4) A-II B-I1, C-III, D-IV
1[Option ID=45377]
2[Option ID=45378]

3[Option ID=45379]
4[Option ID=45380]

Sl. No.98
QBID:1615048373

Match List I with List IT

LISTI LISTII
A |Indian Forest Act I |1974
B. |Indian Forest Policy IT. |1927
C. |Environment Protection Act III. {1988
D. |Wildlife Protection Act I'V. [2006

Choose the correct answer from the options given below :
(1) A-II, B-III, C-IV, D-1
(2) A-IIL, B-IV, C-II, D-I
(3) A-IV, B-II. C-1, D-I1I
(4) A-L, B-II, C-III, D-IV




1 1S 1Y Gl 11 BT o= Hifeg

T | T N
A, [YRdE 3 SrEf-E I 1974
B. [HROD 3T A 1927
C. [ogiaun & HfHaH . [1988
D. [g-gilad gzam e V. Poos
i< fu ¢ fomedl & 9 96l SR &1 99 Sife:

(1) A-IL B-IIIL, C-1V, D-I
(2) A-IIL, B-IV, C-II, D-I
(3) A-IV. B-II, C-1, D-III
(4) A-L B-II, C-III, D-IV
1[Option ID=45381]
2[Option ID=45382]

3[Option ID=45383]
4[Option ID=45384]

Sl. No.99
QBID:1615048374

Match List I with List IT

LISTI LISTII
A Silviculture I Multipurpose tree species along with
T |system " |Agriculture

B S{l\'jPastur‘al II. | Timber species dominated in practices
system
Hortisilviculture Cultivation of Timber species along with

C. II. P
system Rangeland management practices

. |Asrohuesty v Culm_'at_mn of_' Fru:_ts & \'egerables crops in

= association with Timber species

Choose the correct answer from the options given below :
(1) A-IL B-IIIL, C-1V, D-I
(2) A-III B-1V. C-II, D-I
(3) A-IV. B-II, C-1, D-III
(4) A-II B-I, C-III, D-IV

il 1 S 1Y Gl 11 D1 B pifog

= =
A Fcdicea) Uuell [ [Sg3eia Usl @i @il &fd & ary

p [YelURRE TeBTE W Sfadl & T ThNT

Il
s Bic! [edided i U1 &I Sadl &1 Wl s Tt
“[omet [T & Ty

[7a vd Tieaal @ BHa & Wl UeTE
D [ a®t IV ol e

< f3u U fdd el § O 98l 3R &1 994 Sl
(1) A-IIL B-IIL, C-IV, D-I
(2) A-IIL B-IV, C-II, D-I
(3) A-IV, B-II, C-1, D-IT
(4) A-II B-I, C-III, D-IV

1[Option ID=45385]
2[Option ID=45386]
3[Option ID=45387]
4[Option ID=45388]

SlI. No.100
QBID:1615048375




Match List I with List IT

LISTI

LISTII

A |Organic farming I |Multilayered crop cultrvation

B. |Natural farming I

Multiple land use and compent Svstem
bazed farming

C. |Integrated farming | I11.

Farming practices by management of
Organic residues of farms

Holistic approaches based farming system
where all component of farming viz;

D. [Vertical farming IV, |agronomy, Dairv, fisheries, poultry,

piggeries, plant protection practices without
added chemical & fertilizers from outside

Choose the correct answer from the options given below :

(1) A-IIL B-III.

C-IV. D-I

(2) A-IL B-IV, C-II. D-I

(3) A-IV, B-II,

C-1, D-III

(4) A-L B-IV. C-IIL D-II

el 1 P 1Y Gl 11 BT fHe Hifeg

el

=T N

A [oifad Tt

| |[Igddal hucl &l Wl

B [HTeea el

1L [FEHIF SUANT 3R BHU= YUITE ST Hall

C_[ggfcd @l

1L fecll @1 UG i, Wl & oid a9l & Ue - gl

D [3eETeR Tl

UGd QR 1T @dl Hormell forad 9t @l &

OTe TRE &TH, THEH! 3R Joid! & UanT & a1

< feu U f[ds el O ¥ 98l IR &1 994 Bife:

(1) A-II. B-III,

C-IV, D-I

(2) A-IL B-IV, C-II. D-I

(3) A-IV. B-II.

C-1. D-III

(4) A-L B-IV. C-III. D-II

1[Option ID=45389]
2[Option ID=45390]
3[Option ID=45391]
4[Option ID=45392]




